
MONTHLY MATH CHALLENGE
Homework
September

My Name:

Do all of these, 
but skip 2 pages:

page 1
page 2
page 3
page 4
page 5
page 6
page 7
page 8
page 9

page 10
page 11
page 12
page 13
page 14
page 15
page 16
page 17
page 18
page 19
page 20
page 21

page 22
page 23
page 24
page 25
page 26
page 27
page 28

Hand in by September 30.
Feel free to hand in early!

Find a helper to double-check
your work. Write their name:



Name:
edHelper

N
10

 = 7
Write the reciprocal.

1
2

8
11

 = ?
22

6 5
6

4 2
3+

Sketch an angle and label it 
BCD.

Write as a decimal.
Forty-four thousandths

7 5 . 6

20y = 560
36  x 1

3
 = 
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552 exceeds eight times a 
number by 72. What is the 
number?

Thirty-nine more than a 
number is one hundred 
two. What is the number?

Forty more than 
two-fourths of a number 
equals 80. What is the 
number?

Eighty-six more than 4 
times a number is 138. What 
is the number?

Three times a number, 
increased by sixty-four, 
equals seventy-nine. What 
is the number?

If nine is added fifteen 
times to a number, the 
result is 213. What is the 
number?
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The sum of forty-eight and 
twenty-five is forty-eight 
more than a number. What 
is the number?

Four-sixths of a number 
equals 96. What is the 
number?

Six times a number is 

31 1
2

. What is the 

number?

If a number is decreased 
by 44, the result is 6. What 
is the number?

Two-fourths of a number 
equals 404. What is the 
number?

2,000 and 7,000,000 
added to a number is 
7,693,586. What is the 
number?
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

0.4 (0.8 (0.4 + 4)) = 
7 + (65 ô 5) - 60 ô 6 = 3 + 8 ô 1

Convert 81 8
9

 to an 

improper fraction.

Dr. Rock discovered a new 
planet.  As he explains it, 
this new planet has a 
diameter that is 5.22 times 
that of Earth's.  If Earth's 
diameter is 12,756 
kilometers, then what is this 
new planet's diameter?

5 x 5 = x2

What is the value of x?

t - 12 + 7 = 23
What is the value of t? 6 x 6 x 6 x 6 x 6 = Zy

What is the value of Z 

and y?

9 + 5 x 12 + 12

C,  G,  K,  _____,  S,  W

Circle the percentage that 
is closest to 18 out of 74:
65%
46%
98%
12%

10p - 27.1 = 52.9

p = 
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Emily drew a circle on 
her paper. Then she 
divided it into 24 equal 
sectors. Then she 
colored in 6 of the 
sectors. What fraction 
of the sectors did she 
color?

Mrs. White researched 
her family tree. When 
she had as much 
information as she 
could find, she put it all 
in a book. She had 33 
copies of the book 
printed and sent most 
of them to family 
members. Each book 
was 32 pages. How 
many pages were 
printed?

Jessica and Wendy 
were looking at two 
exponential 
expressions that had 
the same exponent but 
different bases. They 
were not sure how to 
tell which one had the 
greatest value. Can 
you give them some 
advice?

Use the associative 
property of addition to 
regroup these 
numbers to make 
finding their sum easy 
to do mentally: 2.5, 10, 
7.5, 3, 6, 5.5. What is the 
sum?

Justin took a bicycle 
trip on a Saturday 
afternoon. Now, 
knowing that there are 
100 centimeters in a 
meter, and 1,000 
meters in a kilometer, 
how many centimeters 
did he ride if his trip 
was 2.8 kilometers long?

Hunter ran in a race to 
raise money for the 
Madison River 
Clean-Up. He ran the 
first half of the race 3.6 
minutes faster than the 
second half. He ran the 
second half in 22.3 
minutes. What was 
Hunter's total time?
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According to one estimate, last year 1 
million people participated in a total 
of 13,000 observances of the National 
Day of Prayer. If each person 
participated in only one observance, 
what was the average number of 
people participating in each 
observance?

Holly was covering the outside edge 
of her front door with masking tape 
before painting it. She did not want to 
get any paint on the edges, only on 
the front and back of the door. The 
door was a rectangle 2.2 meters high, 
and she used exactly 7 meters of 
tape to mask the edges. How wide 
was the door?

Ms. King is packaging 
TV dinners. She can 
choose turkey, ham, or 
beef for the main part 
of the meal, and she 
can choose green 
beans, carrots, or 
mixed vegetables for 
the vegetable section. 
How many different 
dinners can she 
package?

Jacob rode his bicycle 3 
1
2

 miles on Saturday and 

2 3
8

 miles on Sunday. On 

Monday he rode several 

more miles for a total of 10 
1
4

 miles on the three days. 

How many miles did he 

ride on Monday?

The skirmish was over. 
Seven people were 
killed and forty-two 
were injured. There 
were three hundred 
twenty-two people 
involved in the skirmish. 
What percent of the 
total people involved, 
to the nearest whole 
percent, were either 
killed or injured?

What is the greatest 
common factor of the 
numbers 24 and 60?

In what quadrant would 
you find the point (-7, -20)?

If j = -6 and w = 49 then 
what is the value of g?
10j + 10w - 4w = g

I did page 6 I decided to skip this page

https://www.edhelper.com


Name:
edHelper

Pam loves soccer.  
Yesterday her high juggle 
was 6.  Her goal is to 
double her high each day.  
If she can do that, how 
many juggles should she 
get in 2 days?

12
48
96
192

36 : 4 =  : 5

5
9
2
45

Which of the following is 
closest in value to 5085?
4,999
5,149
4,998
4,995

Kevin went to the grocery 
store and spent $7 on 
ingredients to make 
cupcakes.  He made 34 
cupcakes and sold 29 of 
them for 68 cents each.  
How much profit did Kevin 
make?

$12.72
$8.81
$17.82
$2.73
$5.61

If the average of two 
numbers is 8, which of the 
following could the 
numbers be?

2 and 14
19 and 14
4 and 13
18 and 22
10 and 21

Circle the answer closest 
to 46 weeks.
372 days
262 days
335 days
310 days

Which ratio equals 120:16?
5:20
3:17
15:2
5:15

20  + 21  + 22  + 23 =
15
12
14
13
9

Which ratio equals 138:168?
34:29
26:25
25:23
23:28
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Convert to a fraction or 
mixed number and simplify.
              86.6 =
 
1.8 =
 
              0.57 =
 
6.94 =
 
              8.28 =
 
1.5 =
 

1 9 . 7
- 4 . 3 9 5

5 . 9 7
x 2

Rewrite as a vertical 
equation and solve.
1.2 + 1.2 + 98.635

17.4 x 10 =
4 . 1

x 5 . 6 4

Convert to a fraction or 
mixed number and simplify.
          57.0513 =
 
71.7398 =
 
          0.004 =
 
20.0007 =
 
          0.00073 =
 
0.00286 =
 

Write the decimal in words.
15.789 7 . 5 6

x 9 . 4
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8 5 1 8,
- 7 1 8 0, 6 1 5 9

Divide and write remainder.

41 4 2 6

Divide and write remainder.

76 1 0 6 3

Divide and write remainder.

Divide and write remainder.

42 ô 6 =

Find the difference 
between 4,862 and 19.

Find the product of 6 and 
73. 9 0 9 1 9 2,

- 3 3 3 1 7,
5 9 3

6 2
+ 8 4
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Robot was given a math problem to solve.

Mrs. Walker weighed the two containers of potato salad. One 
weighed 3.08 pounds. The other weighed 1.52 pounds. How much 
did the two containers of potato salad weigh in all?

Robot wrote this program in Python to solve it.

# variables for the weight of the potato salad containers
container_1_weight = 3.08
container_2_weight = 1.52

# calculate and print the total weight
total_weight = container_1_weight + container_2_weight
print("The two containers of potato salad weigh in all:", total_weight, "pounds.")

Robot's program will print the answer to the math problem.
What will the program print out?

In the program, "container_1_weight" is called a variable.
It is used to store a value. Name two other variables used in the program.

After Robot's program is done, the variable container_2_weight will have a 
value in it.  What value does it have?

Hints and Questions
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Sarah has 24 at-bats with 10 hits. To 
calculate her batting average, Coach 
Jenna takes hits and divides that by at-bats. 
She rounds the quotient to the nearest 
thousandth. What is Sarah's batting average?
 
 
 
 
 
 
On her next at-bat, Sarah strikes out. Should 
her batting average go up or down?

Find two consecutive numbers that have a 
sum of 147.

 
 
 
 
 
Find three consecutive numbers that have a 
sum of 105.

Megan created a chart of whole numbers 
starting from 0 to 200. She drew a 
rectangle around each number. What is the 
16th odd number on her chart?

 
 
 
What is the 16th odd number on her chart?

 
 
 
What is the 93th odd number on her chart?

The hour hand on a clock started at 3 p.m. 
By the time the hour hand on the clock 
moved to 11 a.m., how many degrees did it 
move?
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2
3

 of the kids in Mr. Lee's class signed up 

for soccer.

3
4

 of the kids in Mrs. Martin's class signed 

up for soccer.

Which class has more kids who signed up for 

soccer?

How many boxes across and how many 
boxes down do you think the next shape in 
the pattern would be. Explain why.

Rose is buying her first car. She went to a 
used car website and found one for $7,226 
that she likes, but she only has $2,434 saved. 
Her sister says she will loan the rest of the 
money to her at 8% interest. Her sister is 
nice and will only charge her simple interest 
if she can pay back the loan plus interest in 
exactly one year. In one year, how much 
money will Rose need to pay her sister?

Sara wrote a program to print a list of 
numbers. She set the first number to 12, and 
each number she prints after 12 will 
decrease by 14. The program prints 9 
numbers so the screen looked like this:
12, -2, -16, -30, -44, -58, -72, -86, -100
 
Now she will change the variables. Instead 
of starting with 12 she will start with 23. Each 
number will decrease by 9 and the program 
will print 10 numbers. What will the screen 
look like this time?
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A rectangle, whose 
perimeter is one hundred 
six feet,  has a length that is 
seven feet longer than its 
width. What are the 
dimensions of the 
rectangle?

Alyssa and William are 
thinking about working 
together on a project. The 
project should start at 3:52 
p.m. If Alyssa did it by 
herself, she would finish it 
by 5:29 p.m.  If William did 
the project by himself, she 
would not finish it until 6:08 
p.m. If they decided to 
work together, 
approximately what time 
would they finish?

The measures of two 
angles in a triangle are in 
the ratio of 2:6. The 
measure of the larger 
angle is three times the 
smaller angle. What is the 
measure of the larger 
angle?

Nicole earns thirty percent 
on sales of pretzels and ten 
percent on sales of soda. 
This week, she earned 
$80.70.  Her sales of 
pretzels were $109 more 
than her sales of soda. 
What were Nicole's sales of 
pretzels?

Rachel is four less than 
one-half as old as 
Katherine. Rachel is twelve 
years younger than 
Katherine. How old is 
Rachel?

Natalie has 6 pounds of 
brand 184 nuts that sell for 
$3.50 a pound. She also 
has brand 311 nuts that sell 
for $2 a pound. If she 
wants a mixture of nuts 
that sell for $2.60 a pound, 
how many pounds of 
brand 311 should she add?

I did page 13 I decided to skip this page

https://www.edhelper.com


Name:
edHelper

The measure of an angle is 
four-fifths the measure of 
its complement. What is the 
measure of the larger 
angle?

What number must be 

subtracted from both 

the numerator and 

denominator of 21
23

 to 

make a fraction equal 

to 8
9

?

The combined weight of 
Ethan and Nicole is 187 
pounds.  Ethan weighs two 
hundred twenty-one 
pounds less than three 
times Nicole's weight. Ethan 
and Nicole have balanced 
themselves on a seesaw. If 
Ethan is 6 feet from the 
center of a seesaw, how 
far is Nicole from the 
center?

Grace has a credit card 
from Arctic Bank and 
another from Bagel Bank.  
She owes Arctic Bank $240 
more than Bagel Bank. 
Arctic Bank charges 14% 
simple interest per year 
and Bagel Bank charges 
19% per year.  The yearly 
interest charge Grace 
needs to pay is $271.20. 
How much money does 
Grace owe Arctic Bank 
before interest charges?

At EdHelper Gas, regular 
gas is $1.19 per gallon and 
ultra gas is $1.76 per gallon.  
If EdHelper Gas sold 80 
gallons of ultra, how many 
gallons of regular must be 
sold to have an average 
selling price of $1.538 per 
gallon?

The length of a rectangle is 
seven times its width. The 
area of the rectangle is 
seven thousand,  one 
hundred sixty-eight square 
feet. What is the perimeter 
of the rectangle?
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Jen is really into science.  She invented a robotic bug that burps.  Her brother loved it, so 

she wanted to send the robot to her brother.  She checked her phone, and her brother is 

currently 2.4 miles away.  After she set the coordinates on the phone, the robotic bug left.  

She got a burp confirmation 228 seconds later when it reached her brother.  How fast did 

this robotic bug travel in miles per hour?  Round your answer to the nearest mile.  Hint: 

Convert time to hours. Then divide the miles by the time in hours.

In each group, circle the number that has the greatest value, and put a square around 

the number that has the least value.

86 85 84

73 76 7 1
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Use >, <, or = to complete.

-2    -4

2.8    -2.80

4.7    -4.4

(-6.3) - (3.8) - (3.7) = ( -11.8 ) ( -8.7 ) = 

( -8.4 ) ( -10.5 ) = 

Simplify.

-( -2
5

 )  

-( 4
5

 )  

-( -8 )  

Simplify.

-| 2
3

 |  

| -4
7

 |  

-| 6 |  

Write the reciprocal of 
each number.

11
9

  

33
13

  

-9  

18 - ( -10 ) = 

-25 - ( 11 ) = 

-( 19 ) - ( -12 ) = 

Use >, <, or = to complete.

-9    -4

-7.5    7.54

9.7    -9.6

( -6 ) ( -11 ) = 

( 6 ) ( -10 ) = 

( -9 ) ( -6 ) = 

Use >, <, or = to complete.

-8.3    -8.35

-9.40    -9.4

-1.5    -1.6

Use >, <, or = to complete.

-9.4    -9.3

8    -7

6.2    -6.20

Simplify.

| -1
3

 |  

-| 2
6

 |  

| -3 |  
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( 6.3 ) ( -12.3 ) = 

( -12.7 ) ( -4.5 ) = 

(8.7) - (4.6) - (-4.5) = ( -6 ) ( 9 ) = 

( 9 ) ( -5 ) = 

( -8 ) ( -12 ) = 

19 - ( -10 ) = 

-( -21 ) - ( 3 ) = 

-18 - ( 4 ) = 

( -11.7 ) ( -9.2 ) = 

( 7.2 ) ( -8.5 ) = 

Use >, <, or = to complete.

-7.4    7.6

-2.3    -2.30

-6    -5

( -5 ) ( 12 ) = 

( -4 ) ( -12 ) = 

( -10 ) ( 7 ) = 

(6.9) - (-2.6) - (4.8) = 
Use >, <, or = to complete.

5    -6

3.50    -3.5

-6.65    -6.6

Write these numbers in 

order from least to 

greatest:

5 1
2

, -1
5

, -11, 4, 2
4

15 - ( -5 ) = 

-21 - ( 4 ) = 

-( -29 ) - ( 5 ) = 

Write these numbers in 

order from least to 

greatest:

2, 4 -2
4

, -4, 3
4

, -1
6
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Holly figured out that 30% of 40% of 120 is 
equal to 14.4.  "Whew!" she thought. "Just a 
simple multiplication equation once those 
percents are changed to decimals."
Make a multiplication equation to show that 
her answer is correct.

The Yellow Jackets won their basketball 
game! Three players each scored 6 points, 
three players each scored 12 points, and 
two players each scored 16 points. What 
was the average number of points scored 
by each player? Round your answer to the 
nearest point.

Sara just sold a car she had bought 4 years 
ago. She sold it for 25% less than the original 
price she paid.  The difference between the 
sale price and the price she paid is $1,775. 
How much did she originally pay for the 
car?

Megan is exhausted. She just rode her bike 
on a bike trail for 3 hours. Her phone says 
she traveled a total of 18.75 kilometers. How 
much time did it take her to ride one 
kilometer, on average?
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Color Squares Puzzle

Don't forget to double check when you are done!

Color in the number of consecutive boxes in each row and column. Double check when you are done!

3K

3L

3M

3N

5O

5P

5Q

5R

6S

6T

2
A

2
B

2
C

2
D

4
E

6
F

4
G

8
H

8
I

6
J

CLUE A:  Color in 2 consecutive boxes.

CLUE B:  Color in 2 consecutive boxes.

CLUE C:  Color in 2 consecutive boxes.

CLUE D:  Color in 2 consecutive boxes.

CLUE E:  Color in 4 consecutive boxes.

CLUE F:  Color in 6 consecutive boxes.

CLUE G:  Color in 4 consecutive boxes.

CLUE H:  Color in 8 consecutive boxes.

CLUE I:  Color in 8 consecutive boxes.

CLUE J:  Color in 6 consecutive boxes.

CLUE K:  Color in 3 consecutive boxes.

CLUE L:  Color in 3 consecutive boxes.

CLUE M:  Color in 3 consecutive boxes.

CLUE N:  Color in 3 consecutive boxes.

CLUE O:  Color in 5 consecutive boxes.

CLUE P:  Color in 5 consecutive boxes.

CLUE Q:  Color in 5 consecutive boxes.

CLUE R:  Color in 5 consecutive boxes.

CLUE S:  Color in 6 consecutive boxes.

CLUE T:  Color in 6 consecutive boxes.
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=
True False

<
True False

=
True False

=
True False

>
True False

>
True False

=
True False

Did you find that four are true?  If not, look again!
Hint: If you see the same pieces on both sides, you might need to remove both pieces.

You should only mark TRUE if you are absolutely sure it is correct!

word root pre can mean in front of or before prediction, prescribe, prescription
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Letters Kissing
Each uppercase letter needs to kiss the same letter but in lowercase.

Draw a line that connects one letter to one other letter to kiss.  Draw your lines over the trace lines.  No 
lines may cross.  Once you draw a line to a letter, that letter cannot be used again.

One complete line has already been drawn for you.  

J

j

i

I

q

Q

P

p

e

E

O

o

N

n

x

X

g

G

b

B

D

d
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 2 1
3

, 5 1
2

,  or 2
3

.

The other three numbers have to all be DIFFERENT and must be from these: 3 1
3

, 4 1
3

, 7 2
3

, 

or 1 2
3

.

18 1
6

5 1
25 1
2 7 2

37 2
3

3 1
33 1
3

1 2
31 2
3

13 1
3

7 2
3 1 2

3

3 1
3

2
3

151 2
3 2 1

3

3 1
33 1
3

7 2
3

17 2
3

2 1
3 7 2

37 2
3

3 1
3

4 1
3

18 1
6

7 2
3 3 1

3

1 2
3

5 1
2

103 1
3 4 1

34 1
3

2
3

1 2
3

17 2
3

4 1
3 2 1

3

7 2
3

3 1
3

17 2
3

2 1
3 7 2

3

4 1
3

3 1
3

20 5
6

3 1
3 7 2

3

5 1
2

4 1
3

14 1
3

7 2
3

2
3

1 2
3

4 1
3

13 1
3

2
3 1 2

3

3 1
3

7 2
3

14 5
6

1 2
3 5 1

2

3 1
3

4 1
3

1 2
3 7 2

3

4 1
3

5 1
2

17 2
3

7 2
3 3 1

3

4 1
3

2 1
3

18 1
6

3 1
3 5 1

2

7 2
3

1 2
3

19 1
6

5 1
2 7 2

3

4 1
3

1 2
3

20 5
6

7 2
3 4 1

3

5 1
2

3 1
3

17 2
3

4 1
3 7 2

3

2 1
3

3 1
3

7 2
3

2
3

1 2
3

3 1
3

2
3 3 1

3

1 2
3

4 1
3
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The volume of a box is 300 cubic inches.  
What is the volume of a larger box whose 
dimensions are three times the size of each 
dimension for the smaller box?

A) 1430 cubic inches

B) 2647 cubic inches

C) 8100 cubic inches

D) 7712 cubic inches

Which of the following numbers is between 
0.001 and 0.0001 in value?

A) 0.612

B) 0.5968

C) 0.7991

D) 0.004

0.405 - 0.364 = 

A) 40.42

B) 0.041

C) 0.031

D) 3.041

6 x 8 x 10 = 

A) 480

B) 416

C) 1,443

D) 684

How would you estimate 5,162 ô 8,689 to the 
nearest hundred?

A) 6,200 ô 9,700

B) 4,200 ô 9,700

C) 5,200 ô 8,700

83.59% = 

A) 0.8359

B) 0.08359

C) 8.359

D) 8359
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Change to percents.
 

0.06 = 

0.94 = 

0.87 = 

0.78 = 

0.31 = 

112 is what percent of 140? Change 14% to a decimal.

Change to decimals.

60% = 

 

96% = 

 

3% = 

 

71% = 

 

56 is what percent of 140? Change 0.05 to a percent.

63 is what percent of 180?
Change 1

5
 to a 

decimal.

Find 53% of 171.
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

0.7 (0.6 (0.7 + 3)) = 
Circle the percentage that 
is closest to 16 out of 70:
94%
76%
5%
26%

1
10

 ô 9
40

 =

15,  30,  45,  _____,  75,  90

y = x + 15
y = 20
What is the value of x? 30,  _____,  64,  81,  98,  115,  

132

2 x 2 x 2 x 2 = 2x

What is the value of x?

577 ô 10 p - $63 = $29
What is the value of p?

The angles in a 

quadrilateral

measure 102o , 103o , 65o,

and ho .  What is the 

value of h?

What is the perimeter 

of a rectangle with a 

length of 42 centimeters 

and a width that is 1
3

 

the length?

What is the area of a 

rectangle with a length 

of 44 centimeters and a 

width that is 1
4

 the 

length?

I did page 24 I decided to skip this page

https://www.edhelper.com


Name:
edHelper

+ + - =

+

x

=

14

6

16

27 32 70 67

? B C A

A A B B

B B B B

Each letter is a whole number.

Fill in the equations using the chart:

A + B x B = 67 + A + B - B = 6

+ x = 70 + x = 32

+ + - = 16
Additional hints:

C = A + 3 B > 7

Equations and Hints:

? =

Solve:
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The atmosphere is 78% 
nitrogen, 21% oxygen, 
and the rest is other 
gases. What percent 
of the atmosphere is 
made up of other 
gases?

Explain the difference 
between the legs and 
the hypotenuse of a 
right triangle.

Which takes more 
digits to write, an 
improper fraction or a 
mixed number? Use an 
example as part of 
your explanation. You 
may assume that the 
fraction and mixed 
number are equal.

The Great Ralconi 
performs 
approximately 9 magic 
shows per month for 
half the work-year and 
does 12 shows a month 
for the other half. He 
takes two months of 
vacation per year. 
About how many 
shows a year does he 
do?

If a die is rolled 15,700 
times, according to 
theoretical probability, 
how many times should 
an even number come 
up?

Tires are on sale at 
SuperMart this week! 
The regular price is 
$73.99 per tire, but this 
week they are 15% off. 
How much will it cost 
Mr. Bloop to buy four 
new tires for his car at 
the sale price (ignore 
any tax)?
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Eleven less than a number 
is negative eighty-three. 
What is the number?

The sum of forty-one and 
twenty-two is twenty-eight 
more than a number. What 
is the number?

5,000 and 8,000,000 
added to a number is 
8,453,101. What is the 
number?

If ten is added nineteen 
times to a number, the 
result is 280. What is the 
number?

Five-sixths of a number 
equals 4,800. What is the 
number?

Ten times a number, 
decreased by 107.3, equals 
22.7. What is the number?
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A number minus 18.15 is 16.16.
What is the number?

77.45 more than 7 times a 
number is 118.75. What is 
the number?

Four-fifths of a number 
equals 144. What is the 
number?

Twelve exceeds one-eighth 
of a number by 5. What is 
the number?

The sum of a number and 
1/2 is 1. What is the number?

The sum of a number and 
5 1/2 is 17 1/10. What is the 
number?
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